

Consolidated Metal Products, Inc.



1028 DEPOT STREET
 CINCINNATI, OHIO 45204-2012 USA -
 PHONE: 513-251-2624
 FAX: 513-251-2488
 www.cmpubolt.com

TVS AUTOSERV

"CMP TO WAREHOUSE" TRANSFER SHIPPER / PACKING LIST / COMMERCIAL INVOICE

SHIP TO: (HUNTINGTON NATL.BK 0110
 TVSAUTOSERVDACHAUERST667
 IM ROLLFELD 23
 GERMANY

FOR CUSTOMER: MAN TRUCK & BUS SE
 P.O.# B53458
 H.S. code 7318.15.20

TRANSFER NO./DATE: 102435020926 - 10 Feb 2026

SHIPPING TERMS: Surface / DDU BADEN-BADEN

Pos. #	W/O #	Item #	Customer P/N	Skid/ Box #	Quantity	Wt. /pc.	Net Wt.	Tare Wt.	Gross Wt.	Price/ea US\$	Total US\$
1	5FLRA	397020095	06.46111-0335	X460046	485	2.260	1096	55	1151	3.43	1,663.55
2	5FLRA	397020150	06.46110-0355	X460073	288	2.390	688	55	743	3.63	1,045.44
3	5FLRA	397020272	06.46110-0325	X460108	316	2.222	702	55	757	3.36	1,061.76
4	5FLRA	397041000	06.46113-0210	X460074	54	2.418	131	55	186	3.32	179.28
5	5FLRA	397041130	06.46114-0450	X460131	200	6.908	1382	55	1437	9.19	1,838.00
6	5FLRA	397041130	06.46114-0450	X460123	200	6.908	1382	55	1437	9.19	1,838.00
7	5FLRA	397041130	06.46114-0450	X460122	200	6.908	1382	55	1437	9.19	1,838.00
8	5FLRA	397041130	06.46114-0450	X460133	200	6.908	1382	55	1437	9.19	1,838.00
9	3INSP	397041250	06.46115-0390	X459907	200	7.882	1576	55	1631	10.12	2,024.00
10	5FLRA	397041250	06.46115-0390	X459820	200	7.882	1576	55	1631	10.12	2,024.00
11	5FLRA	397041250	06.46115-0390	X459830	200	7.882	1576	55	1631	10.12	2,024.00
12	5FLRA	397041250	06.46115-0390	X459828	200	7.882	1576	55	1631	10.12	2,024.00
13	5FLRA	397041250	06.46115-0390	X459818	200	7.882	1576	55	1631	10.12	2,024.00
14	5FLRA	397041250	06.46115-0390	X459819	200	7.882	1576	55	1631	10.12	2,024.00
15	5FLRA	397041250	06.46115-0390	X459853	200	7.882	1576	55	1631	10.12	2,024.00
16	5FLRA	397041250	06.46115-0390	X459854	200	7.882	1576	55	1631	10.12	2,024.00
17	5FLRA	397041250	06.46115-0390	X459857	200	7.882	1576	55	1631	10.12	2,024.00
18	5FLRA	397041250	06.46115-0390	X459875	200	7.882	1576	55	1631	10.12	2,024.00
19	5FLRA	397041250	06.46115-0390	X459870	200	7.882	1576	55	1631	10.12	2,024.00
20	5FLRA	397041250	06.46115-0390	X459858	200	7.882	1576	55	1631	10.12	2,024.00
21	5FLRA	397041250	06.46115-0390	X459910	200	7.882	1576	55	1631	10.12	2,024.00
22	5FLRA	397041250	06.46115-0390	X460002	198	7.882	1561	55	1616	10.12	2,003.76
23	5FLRA	397070250	06.46119-0045	X460112	118	2.910	343	55	398	4.96	585.28
24	5FLRA	397070330	06.46119-0051	X460109	169	3.660	619	55	674	6.27	1,059.63

***** NON-RELATED SHIPPING *****
 COUNTRY OF ORIGIN; USA
 MANUFACTURING COUNTRY; USA

--- TOTAL --- Lbs: 31156 1320 32476 US\$: 41,262.70



COMMERCIAL INVOICE

INVOICE NO.
021026

SOLD BY:
CONSOLIDATED METAL PROD. INC.
1028 DEPOT STREET
CINCINNATI OHIO 45204

DATE 2/10/26
FREIGHT TERMS:
Surface / DDU BADEN-BADEN

SHIP TO: **TVS AUTOSERV**
(HUNTINGTON NATL.BK 0110
TVSAUTOSERVDACHAUERST667
IM ROLLFELD 23
GERMANY

TO: MAN TRUCK & BUS SE

ITEM NO	QUANTITY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
SEE DESC	485	PART# 06.46111-0335 P.O.# B53458 H.S. Code: 7318.15.49	EA 3.43	1663.55
SEE DESC	288	PART# 06.46110-0355 P.O.# B53458 H.S. Code: 7318.15.49	EA 3.63	1045.44
SEE DESC	316	PART# 06.46110-0325 P.O.# B53458 H.S. Code: 7318.15.49	EA 3.36	1061.76
SEE DESC	54	PART# 06.46113-0210 P.O.# B53458 H.S. Code: 7318.15.49	EA 3.32	179.28
SEE DESC	800	PART# 06.46114-0450 P.O.# B53458 H.S. Code: 7318.15.49	EA 9.19	7352.00
SEE DESC	2798	PART# 06.46115-0390 P.O.# B53458 H.S. Code: 7318.15.49	EA 10.12	28315.76
SEE DESC	118	PART# 06.46119-0045 P.O.# B53458 H.S. Code: 7318.15.49	EA 4.96	585.28

These commodities licensed by U.S. ultimate
Destination:
Diversion contrary to U.S. Law prohibited

NON-RELATED SHIPPING *****
COUNTRY OF ORIGIN; USA
MANUFACTURING COUNTRY; USA

"We hereby certify this invoice is to the best of our knowledge,
correct in every respect and contains the statement of true and
exact prices as well as the true quantity of said merchandise, and
that said merchandise was manufactured in the United States of
America."

By Cindy Trubert



COMMERCIAL INVOICE

INVOICE NO.
021026

SOLD BY:

CONSOLIDATED METAL PROD. INC.
1028 DEPOT STREET
CINCINNATI OHIO 45204

DATE 2/10/26

FREIGHT TERMS:
Surface / DDU BADEN-BADEN

TO: MAN TRUCK & BUS SE

SHIP TO:

TVS AUTOSERV

(HUNTINGTON NATL.BK 0110
TVSAUTOSERVDACHAUERST667
IM ROLLFELD 23
GERMANY

ITEM NO	QUANTITY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
SEE DESC	169	PART# 06.46119-0051 P.O.# B53458 H.S. Code: 7318.15.49 BOOKING#: 24991821 VESSEL: YANTIAN EXPRESS 607E SAILS NORFOLK, VA : 2/22/26 ETA ANTWERP : 3/09/26 CONTAINER#: CAAU683084-8 SEAL#: 4422922 ***** NON-RELATED SHIPPING ***** COUNTRY OF ORIGIN; USA MANUFACTURING COUNTRY; USA	EA 6.27	1059.63
		TOTAL PAGES = 2	TOTAL	41262.70

These commodities licensed by U.S. ultimate
Destination:
Diversion contrary to U.S. Law prohibited

"We hereby certify this invoice is to the best of our knowledge,
correct in every respect and contains the statement of true and
exact prices as well as the true quantity of said merchandise, and
that said merchandise was manufactured in the United States of
America."

By Cindy Trubel

Consolidated Metal Products, Inc.



1028 DEPOT STREET
 CINCINNATI, OHIO 45204-2012 USA -
 PHONE: 513-251-2624
 FAX: 513-251-2488
 www.cmpubolt.com

TVS AUTOSERV

"CMP TO WAREHOUSE" TRANSFER SHIPPER / PACKING LIST / COMMERCIAL INVOICE

SHIP TO:

(HUNTINGTON NATL.BK 0110
 TVSAUTOSERVDACHAUERST667
 IM ROLLFELD 23
 GERMANY

FOR CUSTOMER:

MAN TRUCK & BUS SE
 P.O.# B53458
 H.S. code 7318.15.20

TRANSFER NO./DATE: 121015021026 - 10 Feb 2026

SHIPPING TERMS: Surface / DDU BADEN-BADEN

<u>Pos. #</u>	<u>W/O #</u>	<u>Item #</u>	<u>Customer P/N</u>	<u>Skid/ Box #</u>	<u>Quantity</u>	<u>Wt. /pc.</u>	<u>Net Wt.</u>	<u>Tare Wt.</u>	<u>Gross Wt.</u>	<u>Price/ea US\$</u>	<u>Total US\$</u>
1	3INSP	397041200	06.46115-0340	X460329	200	6.992	1398	55	1453	9.03	1,806.00
2	5FLRA	397041200	06.46115-0340	X460253	200	6.992	1398	55	1453	9.03	1,806.00
3	5FLRA	397041200	06.46115-0340	X460328	200	6.992	1398	55	1453	9.03	1,806.00
4	3INSP	397041250	06.46115-0390	X460331	200	7.882	1576	55	1631	10.12	2,024.00
--- TOTAL ---						<u>Lbs:</u>	5770	220	5990	<u>US\$:</u>	7,442.00

***** NON-RELATED SHIPPING *****
 COUNTRY OF ORIGIN; USA
 MANUFACTURING COUNTRY; USA



COMMERCIAL INVOICE

INVOICE NO.
021026

SOLD BY:
CONSOLIDATED METAL PROD. INC.
1028 DEPOT STREET
CINCINNATI OHIO 45204

DATE 2/10/26
FREIGHT TERMS:
Surface / DDU BADEN-BADEN

TO: MAN TRUCK & BUS SE

SHIP TO: **TVS AUTOSERV**
(HUNTINGTON NATL.BK 0110
TVSAUTOSERVDACHAUERST667
IM ROLLFELD 23
GERMANY

ITEM NO	QUANTITY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
SEE DESC	600	PART# 06.46115-0340 P.O.# B53458 H.S. Code: 7318.15.49	EA 9.03	5418.00
SEE DESC	200	PART# 06.46115-0390 P.O.# B53458 H.S. Code: 7318.15.49 BOOKING#: 24991821 VESSEL: YANTIAN EXPRESS 607E SAILS NORFOLK, VA : 2/22/26 ETA ANTWERP : 3/09/26 CONTAINER#: CAAU683084-8 SEAL# 4422922	EA 10.12	2024.00
		***** NON-RELATED SHIPPING ***** COUNTRY OF ORIGIN; USA MANUFACTURING COUNTRY; USA		
		TOTAL PAGES = 1	TOTAL	7442.00

These commodities licensed by U.S. ultimate
Destination:
Diversion contrary to U.S. Law prohibited

"We hereby certify this invoice is to the best of our knowledge,
correct in every respect and contains the statement of true and
exact prices as well as the true quantity of said merchandise, and
that said merchandise was manufactured in the United States of
America."

By Cindy Trubesh